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(5%) Chebyshev (5%) Chebyshev (10%)
X u=20 =2 Chebyshev

X 16 24 (16 X 24)

(20%) Given the trivariate joint probability density function of X3, X,, and X;
as following:

f(Xy X5s Xs) = {

Find the P[(Xl, X, Xg)EA]

(x, +x,)e™ for0<x,<1,0<x,<1, x;>0
0 elsewhere

i . 11
Where A is the region of{(xl, X5, X3)[0 < X, <§, §< X, <1, Xq <1}

(20%) SST=SSC+SSE
k n —
SST=>) (Yij-\? (Total Sum of Squared Deviation)
i=1  j=1
k P —
SSC=n)_(¥-Y )2 (Total Sum of Squares Between Groups)
i=1
[ n
SSE=)" Z(Yij-\?i)2 (Total Sum of Squares Within Groups)
izl j=l
( n )
(15%) ~N(, 69 P{L z U}=l-a
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x-z(l_%)ﬁs;zSX+z(l_%)ﬁ (
1-a0)
A 34 23 27 20
B 18 13 13 12
C 20 15 20 13

(15%) ANOVA

(10%) o=0.05

F(0.95,2,6)=5.143 F(0.95,3,6)=4.757
Foo7526=7.260  F(.97536=6.599

F(0.95.3.4)=6.591
F.97534=9.979

F0.95.4,3=9.117
F(0.975.4,3=15.101




